			A.C.&T. Company, Inc. Hagerstown, MD			Mansfield Oil Company of Gainesville, Inc. Gainesville, GA					
		Α	В	С	D	E	В	С	D	E	_
	Item	OPIS Newsletter Price as of 10-2-23	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.6382	\$0.2740	\$2.9122	72,620	\$211,483.96	No Bid	No Bid	72,620	No Bid	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$2.8796	\$0.2740	\$3.1536	6,821	\$21,510.71	No Bid	No Bid	6,821	No Bid	
	Total Sum <u>Gasoline Tank-wagon</u> Deliveries as Described in Section I		\$232,994.67				No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.6382	\$0.0850	\$2.7232	197,000	\$536,470.40	\$0.1413	\$2.7795	197,000	\$547,561.50	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8796	\$0.0850	\$2.9646	145,000	\$429,867.00	\$0.0873	\$2.9669	145,000	\$430,200.50	*
	Total Sum <u>Gasoline Transport</u> Deliveries as Described in Section II		\$966,337.40				\$977,762.00				
Sec. III	Total Sum Diesel Tank- wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.3472	\$0.2640	\$3.6112	60,073	\$216,935.62	No Bid	No Bid	60,073	No Bid	
	Total Sum <u>Diesel Tank-wagon</u> Deliveries as Described in Section III		\$216,935.62				No Bid				
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.3472	\$0.0900	\$3.4372	719,000	\$2,471,346.80	\$0.0650	\$3.4122	719,000	\$2,453,371.80	*
	Total Sum <u>Diesel Transport</u> Deliveries as Described in Section IV		\$2,471,346.80				\$2,453,371.80 *				

	A.C.&T. Company, Inc. Hagerstown, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			
Winter Chemical Additive Protection (cost per gallon):	Tankwagon at Rack \$.0300/gal // Transport \$.0500/gal	\$0.0300			
Winter Chemical Additive Protection Product Name:	CFI 1902 // 137 ULSW Diesel Treat 2000	Cold Pro Winter Additive			
Manufacturer's Name:	Innospec // Schaeffer Manufacturing	Innospec CFI-1902			

*Corrected Calculations Based on Unit Pricing

Remark / Exceptions:

			Original One, LLC Baltimore, MD			Petroleum Traders Corporation Fort Wayne, IN				
		Α	В	С	D	Е	В	С	D	Е
	Item	OPIS Newsletter Price as of 10-2-23	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec. I	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.6382	No Bid	No Bid	72,620	No Bid	No Bid	No Bid	72,620	No Bid
	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$2.8796	No Bid	No Bid	6,821	No Bid	No Bid	No Bid	6,821	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I		No Bid				No Bid			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.6382	\$0.0950	\$2.7882	197,000	\$549,275.40	\$0.0194	\$2.6576	197,000	\$523,547.20
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8796	\$0.0950	\$3.0021	145,000	\$435,304.50	-\$0.0016	\$2.8780	145,000	\$417,310.00
	Total Sum Gasoline Transport Deliveries as Described in Section II		\$984,579.90				\$940,857.20			
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.3472	No Bid	No Bid	60,073	No Bid	No Bid	No Bid	60,073	No Bid
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III		No Bid				No Bid			
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.3472	\$0.1800	\$3.6172	719,000	\$2,600,766.80	\$0.0605	\$3.4077	719,000	\$2,450,136.30
	Total Sum Diesel Transport Deliveries as Described in Section IV		\$2,600,766.80				\$2,450,136.30			

	Original One, LLC Baltimore, MD	Petroleum Traders Corporation Fort Wayne, IN		
Winter Chemical Additive Protection (cost per gallon):	\$0.010	\$0.0500		
Winter Chemical Additive Protection Product Name:	Innospec	Diesel Treat 2000 Ultra Low Sulfur Winter Premmium (#137ULSW)		
Manufacturer's Name:	Exxon Moblie	Schaeffer Manufacturing Company		

*Corrected Calculations Based on Unit Pricing

Remark / Exceptions: Original One, LLC - Non-Responsive, Did Not use the Revised Form of Proposal